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ECONOMICS
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who among the following is not associated with the compensation principle of welfare

economics ?

(1) Kaldor (2) Hicks
(3) Scitokosky (4) Pareto

2. Substitution of leisure for income leads to

(1) Backward sloping supply curve (2) Need for overtime payment
(3) Both (1) and (2) (4) Neither (1) nor (2)

3.  Inthe adjoining diagram, in the equilibrium which one of the following is true ?

Y
S MC
= AC
E N/
L
=
g
= | \MR
’ X
O  Output
(1)  Price = Average Cost (2) Price = Average Cost = Marginal Cost

(3) Marginal Cost = Average Revenue (4) There is no excess capacity.

4.  Which of the following describes the Lemons problem in economies ?

(1) Bad currency drives out the good currency.
(2) Low-quality goods can drive high quality goods out of the market.
(3) Low cost firms drive out high cost firms from the market.

(4) Excess production of a horticulture crop.
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5.  Assuming that firm A increases its advertising and firm B responds by increasing its
advertising. If profits of both firms increase, then firms A and B are engaged in

(1) azero-sum game
(2) apositive-sum game
(3) anegative-sum game

(4) behaviour which cannot be understood in terms of games theory

6.  Among the following the law of diminishing returns begins to operate when

(1) Total product begins to rise (2) Total product begins to fall
(3) Marginal product begins to rise (4) Average product begins to fall

7.  Which among the following statements are correct regarding Edgeworth Duopoly model ?
L It takes as given the output decision of rival.
II. It is adequate explanation of price rigidity.
III. It takes as given the price decision of rival.
Of these, the correct answer is

(1)  Only statement I is true (2) BothI & III are true
(3) BothII and III are true (4)  Only III is true

8.  Identify the correct order of development of the theories given below :

(a) Marshall’s Theory of Demand (b) Indifference Curves

(c) Revealed Preference Theory (d) Hicks’ Revision of Demand Theory
Codes :

(1 (@, (b), (), (d) (2)  (d), (a), (c), (b)

(3)  (b), (a), (d), (c) 4 (o), (d), (a), (b)

9. Inflationary gap refers to excess of aggregate demand over aggregate supply at

(1) full employment level (2) after full employment level
(3) Dbefore full employment level (4) Dboth (1) and (2) above

10. In a dynamic multiplier system, the relation between income and investment will be
(1) AY,=kAJ (2) AY,=kAI,
3) AY_, =kAJ 4) AY_,=kAI_,
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11. Changes in the portfolio assets of the people take place due to
(1) Current rate of interest
(2) Future rate of interest
(3) Current rate of interest in relation to future rate of interest

(4) Current price of bonds

12. In the adjoining standard diagram, in relation to point E, which among the following is

true ?
% TP
A E
B C
(0] F K
L
(1)  Share of labour is AB (2)  Share of capital is OB
(3) Share of capital is AB (4) Share of capital is ABCE
13. Given:
I=5+0.2y
S=-15+03y
G=5
Where  I=Investment; S = Savings
G = Government Expenditure
Y = National Income
What is the equilibrium level of income ?
(1) 200 (2) 150
3) 250 4) 300
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14. Which among the following measures the intensity of poverty ?

(1) Head Count Ratio of Poverty (2) Poverty Gap
(3) Square of Poverty Gap (4) Per Capita Income

15. Consider the following statements :
(i) Rate of growth of GDP exhibits the performance of the economy.
(ii)) Per capita GDP shows the standard of living of the people in a country.
Which of the statements given above is/are correct ?

(1)  Only (1) (2)  Only (ii)
(3) Both (i) and (ii) (4) Neither (i) nor (ii)

16. Application of project evaluation methods in Indian planning has been difficult because of
(a) Inadequate and inaccurate statistics
(b) Wrong assessment of direct and indirect benefits
(c) Complementarily of the projects

Select the answer from the codes below :

Codes :
() (a) &(b) 2) (b)&(c)
(3) (), (b) and (c) 4 (a) &(c)

17.  Which among the following has not been declared as a special category State in India ?

(1) Uttarakhand (2) Bihar
(3) Jammu & Kashmir (4) Himachal Pradesh

18. In the context of project evaluation, the net present value method mainly depends upon :

(1) interest rate prevalent at a given time
(2) exchange rate prevalent at a given time
(3) sales tax rate prevalent at a given time

(4) both income and sales tax rates prevalent at a given time
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19. Which among the following economists advocated the use of social marginal productivity
criterion ?

(1) Hollis B. Chenery (2) A.K.Sen
(3) Maurice Dobb (4) 1.J. Polak

20. Trickle down strategy explains process associated with which of the following economic

systems ?
(1) Capitalist system (2)  Socialist system
(3) Mixed economy (4) Both (1) and (3)

21. Who among the following is not a regulator of financial sector in India ?

(1)  Securities and Exchange Board of India
(2) Insurance Regulatory and Development Authority
(3) Competition Commission of India

(4) Forward Market Commission of India

22. Dumping in international trade means that a country

(1) exports all the domestic production of a commodity
(2) imports a commodity at a very low price
(3) exports a commodity at a price less than its cost of production

(4) exports a commodity at a price equal to its cost of production

23. International trade in goods and services is sometimes used as a substitute for all of the
following, except

(1) international movement of capital
(2) international movement of labour
(3) domestic production of same goods and services

(4) domestic production of different goods and services
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24. If the elasticities of supply of exports and imports are large in relation to the elasticity of
demand for exports and imports, devaluation of a country's currency will :

(1) not effect the terms of trade (2) worsen the terms of trade

(3) improve the terms of trade (4) All of the above

25. Assertion (A) : Factor prices tend to be equal among the trading countries.

Reason (R) : International trade in goods and services is a proxy for movement of
factors among the countries.

Select the correct answer from the codes below :
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

26. Uruguay Round of negotiations concerned with which among the following ?

(1) Tariff Measures (2) Non-Tariff Measures
(3) Both (1) and (2) (4) Neither (1) nor (2)

27. Which among the following items are included in the NAMA ?

(1) Fish and marine products (2) Manufactured products

(3) Fuel products (4) All the above

28. Which among the following is the largest trading partner of India in 2015-16 ?

(1) USA (2) UAE
(3) Euro zone (4) China

29. Kisan Kalyan Cess is imposed on

(1) Taxable services (2) Cold storages
(3) Mandi Samitis (4) Corporations
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30. With reference to balance of payments, which of the following constitute(s) the current

account ?
L Balance of trade II.  Foreign assets
III. SDRs IV. Trade in invisibles

Select the correct answer from the codes below :

Codes :
(1) Tonly (2) IIandIII
(3) TandIV 4) I, IIandIV

31. Which one of the following is not correct about SEBI (Securities and Exchange Board of
India) ?

(1) It has the power to protect the interest of the investors in securities.
(2) It has the power to convert private securities to public securities.
(3) It has the power to promote development of capital market.

(4) It has the power to regulate the working of stock exchange.

32. Which among the following countries (as on May 2016) are currently using the
Quantitative easing as a measure to improve the inflationary expectations in the

economy ?
(1) Japan (2) Britain
(3) USA (4) Australia

33. The base year of the newly introduced Consumer Price Index (CPI) in India has been
shifted to the year :

(1) 2009 (2) 2012
(3) 2011 (4) 2010

34. Which of the following is not a legal tender in India ?

(1)  One rupee coin (2) Fifty paise coin

(3) 3500 note (4) Government securities
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35. Consider the following statements and select the correct answer from the options given
below :

L NITI Aayog aims to promote Co-operative Federalism.

II.  NITI Aayog is to centralise the planning process in response to scarcity of resources.
(1) Onlyl (2) Onlyll

(3) BothI&II (4) Neither I nor II

36. ‘GST’ would subsume which of the following taxes ?
L Excise Duty II.  Customs Duty
III.  Sales Tax IV. Service Tax

Select the correct codes :

Codes :
1) I1&IV (2) L IIand IV
(3) I, IIandIV (4) All of above

37. Which of the following is/are advantage(s) of zero-based budgeting ?

(i) It eliminates or minimizes the low priority programmes.
(i) It improves the programme effectiveness.

(ii1) It facilitates critical review of schemes in terms of their cost effectiveness and
benefits.

Select the answer from the codes below :

Codes :
(1) () only (2) (ii) and (iii)
(3) (@), (i) and (iii) (4) (i) and (ii)

38. Public good in which exclusion is possible is called :

(1) an exclusive good (2) acommon good

(3) aclub good (4) an impure good
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39. In order for someone to be a free rider, an activity must be undertaken that :

(1) arranges for ride-sharing at rush hour.
(2) creates benefits for people who cannot be forced to pay for them.
(3) Dbeautifies a neighbourhood.

(4) identifies the beneficiaries and forces them to pay.

40. Which factor has no role in the shifting of a tax ?

(1) Change in prices (2) Nature of demand

(3) Income of the consumer (4) Elasticity of demand and supply

41. Assertion (A) : A progressive income tax is also known as built-in stabilizer.

Reason (R) : As economy expands, and income rises, taxes also rise in the same
proportion.

Answer from the codes below :
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

42. Assertion (A) : Rising Public debt is a cause of concern for the government and economy.

Reason (R) : Rising interest payments due to rising public debt erodes government’s
capacity for economic development.

Answer from the codes below :
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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39. ot o Mo el 8 & foTT ST SrishenTd foham ST e 2
(1) =I&IaH T2l % SR AT-STE R <l SFaeT &t Sl € |
(2) A o foTT TR T S G BT & e ToTT 3¢ ST et & aTed el fofall ST ehl & |
(3) UEIE T Higdehor oA STar € |
(4) IS o UEdE B STl € 3R S T R o [T ared o STar € |

40. T X 1 T W e A foFq R 1 hIE fiTehT T ¥ 0
(1) Todr & uRea (2) T & T
(3) ST Bt A=A (4) @ ST Ui eeierar

41, STIEE (A) : T ST B 3 A R & w T ¥ S ST g |
T (R) : SRS ST 1 R8I ¥ @O o § gty et 5, N o 36 o # gty
BAT |
e fRT T foshedl § W
FT
(1) (A) 3R (R) 2FT 581 £ 3R (R), (A) 31 W =men & |
2) (A) 3R (R) 3R T &, B (R), (A) T T = TR & |
3) (A) e, b (R) T € |

4) (A) T &, ] (R) W& € |

42. FPHEHAA (A) : IgHH HESTTER FOT WHR 3R Sfegere & forg foar &1 SR

T (R) : I5 ET EINTR 0T 3 HROT S I § ghy ¥ S O % o e
&7 HH &l STl § |

e fRT MU foshel @ ST

T ;

(1) (A) 3R (R) 3Hl @& ¥ 3 (R), (A) FI T&l AT |

) (A) 3R (R) 3F1 T E B (R), (A) 1 T = e & |

3) (A) W& g (R) Tom & |

(4) (A) Td &, g (R) W& |
Jor6 19  Paperll
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43.

44.

45.

46.

47.

An imposition of capital gains tax will

(1) reduce both savings and investment (2) increase savings

(3) reduce savings (4) increase consumption

The Arithmetic mean and median in a moderately skewed distribution are 28.1 and 27.6.
The value of mode in this distribution would be

(1) 268 (2) 26.6

(3) 29.0 4) 275

Which of the following is not unit free ?

(1) Coefficient of correlation (2) Coefficient of variation

(3) Laspeyer’s Index Number (4) Standard deviation

Assertion (A) : Ogives help to compare frequency distribution.

Reason (R) : They help to determine the values of median, quartile, deciles and
percentiles etc.

In the context of the two statements, which one of the following is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Which of the following is a probability based sampling method ?

(1) Quota sampling (2) Purposive sampling

(3) Systematic sampling (4) Convenience sampling
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43.

44.

45.

46.

47.

TS AT Y AT ST | —
(1) =od IR FEw g HAERT | (2) 9 | gg et |
(3) o ¥ HE e | (4) 3T H gy &R |

T 370 T e o SiehTivTeie wre X wifkaet 28.1 941 27.6 ¥ | S H Sgeish Sl Wi & |

() 268 (2) 26.6

(3) 29.0 4) 275

TeAifeRe & I ghTE ot el & 2

(1) TeEqey Ui (2) oo o

(3) TIERR F gEHE 4) THE e
J | | F

ATHAT (A) : ST Teh | TRARAT St JorT A | LG Heredt & |

% (R) : TR T, <, SR o T A S T 7 FreRor s 3 T e ¥
SORYRT 31 S S WA, e S e E o

& :

(1) (A)W(R)ﬁﬂﬁ%éﬁﬁT(R),(A)aﬁﬂﬁw%I

) (A)aﬁr(ﬁ)ﬁﬂﬁ%ﬁﬁ(R),(A)aﬁuﬁwqﬁh

(3) (A) W E, A (R) Tofel & |

4) (A) 7o &, T (R) W |

et 2 e ST S o

(1'3 AT UfeTerET (2) SREAYOT icEE
(3) e e (4)  gferen vl
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48. Match the items in List — I and List — IT and answer from the codes given below :

List - I List — IT
a. Median i.  Measure of Inequality
b.  Quartile deviation ii. Measure of Central
Tendency
c.  Gini coefficient iii. Regression analysis
d. Coefficient of determination iv. Measure of dispersion
Codes :

a b c d
(1) i i i v
2) i i v i
3) i v i il
4) i i i v
49. Assertion (A) : Duesenberry hypothesised that consumption income relationship is not
exactly reversible.
Reason (R) : Consumption depends on current income.
Select the answer from the codes below :
Codes :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) Both (A) and (R) are false.

50. Match List — I with List — IT and select the correct answer by using the codes given below :

List=1 "~ List — IT
(Author) (Book)
a. Karl Mar;* { i.  Capitalism, Socialism and Democracy
b.  J.A. Schumpeter ii. Capital and Interest
c.. Thomas tty iii. Das Kapital
(’ d. E.Bohm V'('iﬂ B‘awerk iv. Capital in the Twenty First Century

Codes :

a b ¢ d
(1) i i i v

) i i iv i
(3) iv il i i
@4 i i iv i
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48. g1 1 TET 1 GeEl-11 i HaT & GHl Y ol A T T el § IO 1 wE
=t - 1 e - 11

EIIEED i, STHUET @ O™

IJqUh faae il RF vy % A

T ToTie i, Wl T farvetsoT

g T iv.  3TafeRRoT B AT

93'9-5"?7?’

a b c d
(1) i i i iv
2) i i v i
3) i iv i il
4) i ST VS S \Y

49. ARTHUT (A) : SRR T8 TNebeT I o ST 3779 Teiy quiets SFehuvia € |
% (R) : ST =1] T T PR ST € | o '
TE Fe T T B
&<
(1) (A) 3T (R) SFT && &, 6 (R), (A) 1 s i &
(2) (A) 3R (R) THI W& & 3T (R), (A) Tl Tel AT E |
3) (A) WIE fhg (R) To@ & |
4)  (A) 3R (R) A T & |

50. G-I 3K FE-11 1 | Faferd L qer = KT T 2l 1 ST % Fel 36T o1 =

=t - 1 = - 11
EEs) L (T)
a.  Ic] AR ti. ( shfuefersw, Hifauferen de SHtmH!
b. JUYHER i e US
c.  smEfeR il s e
[d s‘.aﬁnaﬁm‘ﬁ‘iiv. HUe 3 T o=l B Wl
E S

a b ¢ d
(H 1 1 v
(2) i i iv il
3 iv i il i
4 a1 i iv i
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